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WEST BENGAL STATE UNIVERSITY
B.A. Honours/Programme 2nd Semester Examination, 2019

SOCIOLOGY OF INDIA
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks. ENfEF N7 FZ YT 2 Few Fed 1
Candidates should answer in their own words AT e GIRNF Te TET ATNIN I
and adhere to the word limit as practicable. ez P!

GROUP-A
e-5
1. Answer any fwo questions from the following: (Within 700 words) 10x2=20
frafeie - 715 elvea T wies (100 3 W)
(a) Discuss in detail on Indian Class system.
SIS FTICE A TT=R Teofa Reeifae wicssa s
(b) Define village. What are the characteristics of rural community in India?
AT R Wi | SIS &l srevices (Rigrere i i ¢
(c) Who are Dalits? Discuss about dalit movements.
WIETS IR e B ¢ WIS SIITHAITe T WA=l S|
(d) Discuss in detail about secularism.

gifferrerTet evex RS S 6t

GROUP-B
e
2 Answer any four questions from the following: (Within 300 words) 5x4 =20
et Q- b1afs eltas Tew wies (woo =t W)
(a) Differentiate between caste and class.
e @ @R 21 ot 3@
(b) Write a short note on rural development programmes in India.
SRR &l Tz FHR Toia w3 fb e Bt e

(c) Discuss the functions of family in contemporary India.
eifeT FIe SRS AR A STAsa I
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(d) Discuss the nature of tribal problem in India today.
TSI SRS TGS TP &S T TG I
(e) Write a short note on Women’s Movement.

[ SRR BoiF T 0 it @l |

(f) Discuss about Communalism.

FRAWIRFS! T2 ST I |

GROUP-C
freta-at
3. Answer any five questions from the following: (Within 100 words)
e @-@I «fsfe arss Tea wie: (Soo =T TY)

(a) What is kinship?
e & ¢

(b) What is the difference between Varna and Jati?
3 @ wifen ey =i R o

(c) What are the principal features of joint family?
@ wifFaras yy gl e

(d) Define Sanskritization.

FFOIAA FGI 76 |

(e) Define tribe.
Towifen FxE we |

(f) What is Dominant caste?
wifgree & < ¢

(g) What do you understand by matrilineal family?
NpFerefes a7 Fers & @i ¢

(h) What do you mean by ‘self sufficient village’?
TR alrs 7S Fe0e R QI 9

X

2137 2

2x5=10



